BEEmPLUSSE EBEFE 112 BFE 1

]E  #HE: F=REKRE

2 ® M

BESE .

Ay

- 7.

~
g

- ~EB(SBIEP 4452 02 A)

L.

10.

11.

12.

13.

14. (

15.

() BRI (2x+ 7)(2x—5)=5(2x +7)?
HZBBRA0T

Hb L FHRWEEFRIAEXT) > 15(2x—5)=5(2x +
7)

FA T FIRWERRET > 15 2x—5=10x+35
F=20  FIABIHELE > 5 x=-5

s [ U120 BR B a4 g an 2

(A (B)FH 20 (C)F =21 (D)L LU ERE I-HE
( )HRI—2 B FEI—(E— T = KT HYAE -

1 3
(A) x(x+1)=—1 (B) 2X*+-x+1=0

(C)x*+1=0 (D)x>*—3x+2=0
( DHFRITFITER—ITT —XITHER -
(A)2x—3=0 (B)(x—1)(2x+7)

)
(©) -5t 15x=—3x?> (D)7x*+25x=(Xx—1)(7x+2)

() BHXH—IT =X 3¢ +ax+b=0 HyREi{E
fRls3F1—4> Hla-bmyER%/? (A)-2(B)3
(C)13 (D) 39

(0 )Y XBI—TE R @15 x+ k=0 fyEh—

fRRER SR REED B K REEC ATKIVEL
mEEE%/b? (A)26 (B)36 (C)44 (D)56

() K== &I (—3x+1)° =16 (x+2)° ]
fgg > x=? (A)-3 (B)-5 (O)-7 (D)-9
() EHEN 5(2x—3)(Bx+1)=0 HyRitR s a~ b

Ha>b Hl2a+3b=2? (A)-2 (B)0(C)2 (D)4
() FAlfIEREREFHR?  (A) 4 —4ax+1
(B) 3x*—6x—9 (C) x*+6x—9 (D) 4x>—1

() Eb#fE=t 8x* =0 F1 5x*=5x AYfiE - T
ERE?  (A)RI(E TR AL A AR

(B)FA{E T2V B /2 x=0(ZE1R)

(CYRE T R2=CE —(EfEAHTE] - 122 [EREIE YR E x=0

(D)WafiE 52 =0E —EfEtEE - mEEAAE RN Z O

() NYITREAH - eV R ER ?

(A) —2x2+4x—2=0 (B)x>*—4x—4=0

(C) (x—2)’=16 (D) 9x*+6x=1

() E3ExH—Tt =K ER(2x+a) >=49 fy—

{lélfg > Ala &%/ 0 2(A)7 (B)5 (C)3 (D)1

() B x—t =K HERX m¥—3mx+9=0F

FRPSFHEMR - SKmVER ? (A)-2 (B)0 (C)2

(D)4

() e =wIfEst 2 —6x—10=0 > 1SR

aflib> Hlathb=?(A)5 (B)3 (C)-3 (D)-5

) DABC 5 A — T — KRR 6x2+px—q=0 >
TG x——1+ flq 5%/ 2 (AL (B)2 (C)3 (D)4

() F{EEERE T 400 FEr55%8 /150450 EEE > B

M B E 22 v SIS B 2 [F 22 AN B ]

B [FEEER 5 DRV E BB EE A - B

#5etrig/ 20 JHI 5 ) o AR Y B[R EE L [F 2

% 1A HIEE E3A %/ Dr[EE 2 (A)28 (B)29 (C)30

(D)31

16.

17.

18.

19.

20.

21.

22.

() BAK - /INWIEEZER 2 - HWEerE R

5 KABURM ? (A) 1-V6 (B)1-V5 (C) 1+V5
(D) 1+V/6

() MEESOEERR 112 A% > HER A
400 SEH A5y o QERIEIE TP R RS /DA
73? (A)3 (B)4 (C)5 (D)6

() EE=AF > Wlha9—Rn 3 A% » —HE 3
Ny HimARREA=AR > HIRIE=APIER
&%/ ? (A6 (B) 9 (C) 12 (D)15

() FERETHE T 25 BAEREA - G AE
450 {EFESR - FHARE P EEIIfE 1 SEERE > RIS
SPHE R 10 E - & hifE S DRI - Itk
AESE AT 12000 {EFESR ? (A)S5 (B) 30 (C) 35 (D) 40
() TERFEEF2R/ELL "ESREEEE , &
TS R T 4RE > E.40160~70 2335 72 A >
Al R 60 3HVEAHZ%/0 N\ ? (A)24 (B)60 (C)72
(D)90

6/“105»//‘%/‘ -
b 07)30 40 50 60 70 80 90 10

T #(57)
() TEZEEEH/UF 3 PELsERE 5 8 R
R ICHT4RE > 80 437 LA EAEZ/ DA ? (A)6(B)9

)

100 73 #4(57)

K JNE3 Ei%?%%%ﬁzgl%ﬁﬁ% ;OEZ’K;’%&;;EWR@

() IXEREEGEDILE - A B3t T 50
[B(F[E] 10 5k) » HEBRUEIMHE T R IR T -
£ 50 [BIE F: » 5 #4151 r AT 6096 (UM /S p) A

T~ 7 (A)18 (B)24 (C)28 (D)32

20
b
L
/\10
5 1 H H
0123456 7 8 910
HEBREL(ER)
g

(o = B R 1 0006)

112-1_T3_J8_math_FF1E /2 H



BETPLSEP EF

112 BFE

]E  #HE: F=REKRE

2 F£  H

BESE:

AIRER

O

HE2X

~
g

23.( ) MNEZEHEET/\EFH - ZWIEREFEAE

ISR BB BT ECITARE - EXNEIIESA 40 A > /9

H~ Z B H Z A $E AR 300 JTHY ABiHZ= %D

A? (A)10(B)11(C)13 (D) 15

45

Ti40
K35
a0

40 40 |—e—
o A HBE
/38
30 %
257 25 A

3. ARG ETFEEHRE/ NIKFFAAa~b~c~d e~
a4+ d’Eh 3’/ N25 0 HEifa~bc~d-e & B

Y
A 25
~20 15, )
15 Ak
5
A

22 A Z3

8 /
10 y 1 P
& I

L L 1 1 1 1 1
50 100 150 200 250 300 350 400 450 500
ZRE0T)

B (CE SR P
1. Bt 2 —4x=3 > H x B 5k
X2 i -

4x—8+2V7

4. INTGEEIREE—E 173 5 7HHE - HT A8 &/T
FEFRERF A/ NI T - R N HEEER S T UYL
AME S STV EEE T - SRR - JeiisrE
BETIAERF » EHZERENIAREEE
fr%/b5e?

2. BEAla~ b BT 2x*+5x—8=0 AYRIFE » HIl

a?+b?=?

112-1_T3.J8 Z2E /442 H



